BITSAT Sample Paper:-
Total 150 questions

Mathematics:-

1. The solution of the inequality |2X ~ 35| >— 1]
IS
8
(1) (2, =) (2) (3: fﬂ)
(3) (3, =) 4) (2, 3)
o f —2X=1 - A . B 4en

x-1ix-2 x-1 x—-=:
A-B=

(m7 (2) -1 (3) 12 4) 1

3. The number of integral solutions of

X2 —10x+21<0and x2-4x>0is
(13 (2) 4
(3) 2 (4) infinite

4. The sum of the integers from 1 to 100



(1) 3000 (2) 3050 (3) 3500 (4) 3650

. If the coefficient of the r' and (2r + 5)™

terms of the expansion of (1 + x)° are
equal, r=

(h4 (2) 6 (3) 7 @ 3

. let E = 2 sin? x — cos 2x. Then for all
values of x

(HD-1<E<3 2)0<E<?2
B)-1<E<] (4) None of these

. The number of ways in which 20 mangoes
may be distibuted among 5 children, so
that each child gets at least one mango
is

. The number of divisors of N = 38808 can
have (excluding 1 and N) is

(D70 (2) 72 (3) 71 4) 12

. Ifcos x —isin 2x and sin x — | cos 2x are
conjugates of each other, then



(1) x=nn

(2) x=0
- T
(3) x—(2r“1+1)2

(4) no value of x exists

10. The equation of the lines joining the
origin to the points of intersection of the
line 3x + v = 12 infercepted between
the axes of coordinates are

(N y=1§x0ndy=x

(@ y=xandy=-x

(&) y:%andy::ﬁx

(4) none of these

1. The point (4, — 3) with respect to the
ellipse 4x% + By’ = 1

(1) lies on the curve

(2) lies outside the curve
(3) liesinside the curve
(4) is the focus

12. The coordinates of the point where the
line joining A3, 4, 1) and B(5, 1, &)
crosses the xy-plane are

13 23 13 23 13 23
o(2%0) oF-29 o5 %

U) 4) none of these



13.

14.

23.

_
fim {:-: Wt :-:}=
E — m
M @1 G-~ @0
2 T2

If foy = 1 +25in:<+2cm2x,D£x£%,

then i) is

() kzast ::l’rx=%

() geatestatx= %
3) least u’rx=%

() greatest atx= %

The solution of the differenticl equation

2.1

M ey =x*+c @Dxy=x"+c
@ay+x'=c  @Wxy+x'=c
IfA=1{1,2 3} 8=1{3. 8. then
(AUB) =< (A rB)=

(0 {63, 10, (3, 2), (3, 3), (3, 8)}
2 {01, 3), (2, 3, (3, 3. (8. 3
@ (.2, 2 2 3 3. 681
) {(8 3). (8. 2, (8 1.8 81

The meon deviation of the numbers
3.4.5.6,7is

(o @25 @5 iz

m _
For2=r=n,"C +'C,_,+"C, _,=

{utl‘lﬂilcr_] mg_l’.ﬂﬂ]cr”

ﬂlg_{ni'?}cr [N m+ ?}Cr

The coefficient of ¥, (0 = k < n) in the
axpansion of

E=1+(1+®+(1+xF+ ...+ +x"

is equal fo

m e, @7,

@ e, ,, wnc,

—

) | —
16. Asolutionof ¥x +9 + Vx" -9 = 44 &

17.

18.

19.

is

ha @5 N25 @5

The value of "o’ for which the roots o B
of the eguation % + & + a = 0 satisfies

the condition % + B

i
Q
EIIG}E (Ha=0
(Ha=0 ) none of thass

If o, b, ¢ ar in G.P., then log, x. log, x.
log, x ars in

(M AR () HP

(3 G.P. (4) none of thass

If R and R are symmetnic relotion (not
disjoint) on o set A, then the melaticn
RrRis

(1) refledve (&) symmatric

(3 tronsitive (4) none of thass



24.

1.

& — 3 1
fl 4 3 - 1|=x+1iy than
20 3 i
(Mx=3vyv=1 Bx=1y=3
@x=0y=23 A x=0vy=0

The inverse of o symmetric matx is
(1) skew-symmatnic

() symimatric

(3 diocgonal matrix

(4) unit maortrix

Tha valua of
tam 20¢ + fan 40° + /3 tan 20° tan 407 =

URE @ %
V3
(3 v {d) nons of thase

The valus of cos™' (— Cos 2—;) is egual

fo

mE @ @ w-I
4 2 3 4

lst DA=71+3j-2% and

OB=3+]-2c The wector OC
bisacting the angle AOES, where C lies
on ABis

M2Ai+j+k @OAT+]-k
Mi+]-k Wis]jek
fy=sin ' yT—x+cos ' vx then L =
che
V(1 — ) w1 - x|
o — w —
¥l - x) ®Wl o+ x)

The cuve v + x = & has a verical

tangent ot the point
M. (& (1.0
(30, 1 ) ot no point

w2

Z0s X
J‘[]+5in N2 + gn ) =
o

] ]
Miog. L @ log. 1
% 3 % 3

@ og, 4 @ tog, 2

28.

3L

7.

9.

The genearal solufion of the equation
Jcosfx- 10cosx +3=010s

(1) Znm+ cos ! 3

il
(@) nE+ cos (E)

(3 Znn+ cog”’ (%)

) net cog”! (%)

. I 121 =2, then 2+ 2 s aqual fo
1 4+z2
(hz @2z 2z z+3
. The angke between the fangents from

the origin fo the circle (x— 777 + §y + )%= 2
is

=

a

(7}

(2) Z

T X
(n 3 3 5

The direcinix of the parobala & = y* — 2y
has the equation

(Hhd-1=0 (#dc+5=0
(@) dx-5=0 @) Ay +5=0
The product of 11, 101, 10001 is

&
m][]—]

1) 1000001
(n 5

g 5
o -1 107 -1
(& —— 4
g )
The sum of n tarms of two AP. sorias are
in the ratio (n + 1) : {0 + 3). Then the
ratic of thair 4™ tams is

1

@ =

3 4 1
(n r (3 5 ) 3
iogiiog a)
The exprassion a 29  whare all the

logarithms ars to the bass b is equal to

(1) log, (ab) (2) logy, (ab)

(3) logg, o ) log b

n+ 1) {n+2}) tn+ mj
"C, + C,+ C,+..+ c,
+in+m+1)cn=

n+m+1 m+m+ 1)
c” )CI'I m CF‘H"

ca_)lfl‘l+l‘l‘l+2)cn+1 m}(]"l+m+2]cm+]



41.

47.

49,

them oo, ¥)

(1) divisible by x
(2) not divisible by x
(3 not divisible by y
(4) divisible by (1+x)

lfina AABC, of +b° + c =ca + ::lI::n.E,
thien the tiangle

(1} is equilateral

{2y is right-angled iscsceles

(3 has angles 30°, &0° and 90F
(4) none of these

At most n books are to be selected
from (2n + 1) books. If g student can
salect at least one book in 1023 ways,
thenn=

(13 25 s 7

Which of the folowing s optfically
active?

(1} stretched polymear shoot

2y siverd glass

(3 calcite

{4y quarz

In the He-Me laser the ralke of the He-
atom is

{1y to emit the red light

{2) to control the output

{3 to confrol the wavselength

() to effect populction iversion

batwaan the No bvals

The part of a fransistor, which B haavily
doped to produce a lorge number of
majority comers, is

() base (2) emitter

(3 collector (4} none of thess

The double-slit elkchon interference
patiemn appears whan a laorge number

43. Among the complex numbers, z sotisfies

the condifion 1z + 1 =il = 1. Then the
number howving the east  positive
argument is

MI1-i @B-1+i DI )i

. Four parsons are chosen at random

from a group confaining 3 men, 2 women
and 4 children. The probability that the
group contain exactly 2 childen i

5

10
&) 5 ) o

1 2
{”ﬁ {2}?

. The values of x forwhich the angle batwean

E=B<2T+¢<T+Eﬂnd B=7i-2] +xkb
obhss and the angk between b and

the ¥-owis B acute ond less than % ars

(MDx<0orx> l

o)
m%cxc 15 u1x<1|'3—;

of electrons are accumuloted ot the
screan. According to the guoantum
theory, the inkerfernce pattem appaars

(1} only if o beam of elecirons are in
transit so that one part of the beam
goas through one slit and ancther
part through the other

2y even if one electron af a timea s in
fransit, but an electon goes through
ona of the two slits only

(2} even if one electron af a time s in
fronsit, but an  electron goes
through both the slits of once

{4} the consideration of an slectron at
a fime in framsit B mot physically
possible

. With what aspects of rodiation is the

aquantion log A = log R + B gssociated?
(1} charactedstic X-rays

2y block body radiction

(3  o-omission

) Comptonefiect



5l

End of gloss tube becomes round on
heating dus o

(1) surface tersion (2) viscosity

(3) gravity {4) friction

The earth revolhes round the sun in an
alliptical orbit with sun af cne of the fioci
as shown in Figure. The orbital speed of
the earth i moximum near the point

D

&
A

A

mc @0 €4 )]

At msonance, the parallel circuit of
Figure constituted by an iron cord coil
and a capacitor behavas liks

5. When an alpho paricle approachss a

51

nuckeus, the trojectory of the scatiersd
alpha particls is

(1) a hyparbala (2 o parabola

(3 an ellipse 4) o circla

A full wave rectifier circuit  along with
the input and output voltages is shown
in the Figure. The contfribution to output
volfage from diode-2 is

E

Qutpout
3 Wallage

AR
/

A B c B

Dutput

woltage
HEC @AD

Input
Valfoge

(A C @BD

If E. = 20sin 10°x t and E,,, = 12 sin 500 mt

are camer and modulating signal, then
the modulation index is

(Moelk @adk @50% L%
Whan the two frequencies are identical

in small cscilloticons, the system is known
Qs

&1

&2,

(n
(2
&}
)

an open circuit
a short circuit
a pure resistance of value R

a purs resistor of valus much higher
than B

Fundamental forces are thought fo
arse due fo exchange of some
mediating particles. The rangs of force
R, depends cn mass m of mediating

particle in the following way

(DR, =m @R, = m

1
@R, ~—

1
R —
AR, i
In a p-rjunction photo call, the valus of
the phitocskectromotive force produced
by monochromatic light s proportional
to

(1} the bamier wvoliogs ot the pn
junction
2y the infensity of the light falling on
the cell
(3} the frequency of light faling on the
call
4y tho woltoge applied ot the pn
junction
(1) msonance (2) oscillator
(3 degenarcie (4) linsar

For detecting light intensity, we use
(1) photodiods in reverse bias

(&) photodiods in forward bics

(3) LED in reverss bias

(4) LED in forwand bias

If elerments of principal quanturm number
n > 4 war mnot alowed in noture, the
nurnber of possible elemants will be

(4 3z @& 4) 64

Modulation is the process of changing
some charoctarnstics of high freguancy
camear wave in accordance with the
oudio frieguency signal. The characteristic
most commonly changed &

(1) amplitede (2) valocity

{3) intersity (4) all of these

Im Compton effect experiment, photons
of ensrgy hw are incident on o farget

matenal of atomic number Z The changs
in waovelangth con be seen more aasily
if



FAR

72. Two equal esstances each of 1000+ 1%

13

] —=1—
=[] 16 &
ol # By = 2000 -
100 tums =—a10 cm—-]
je—13zm
] ———]
::—'8 1 mm
10 em
col & Iy = 2000
100 tums

mn
2)
3
)

A semiconductor is cooled from T, K to

v i invisible region and £ is small
v is in X-ray region and £ is small
v i in X-ray region and £ is karge

v is invisible region and £ is large

T, K. lts resistance
(1) wil decease
2
3)
)

The precbable energy of electrons of
absolute zero is called

will increoss
wiill first dacreass ond then increass

will vt change

(1) formni energy  (2) emission enargy
(3 work function (4 potential enargy
Flasma is a cloud of

m
2)
3

)

o-paricke
newutring
completely ionzed matier

uncharged particles

&7. Why i an ammonia maser not ussful in

communication?
The modulation indsx of an FM camer
hovingg  camisr swing (5) of 100 kHz
and a modulating signal of 5 kHz is

(M5 @ @z 4

(standard deviation) are connected in
parallsl. The standard deviation of the
parallel combination will be

(05% m—%% V2w @) 2%
Y

The flux inkoge of

74.

&9,

70.

(1) Bocause it has low power
(2) Becouss ifs frequency b not convenient
{3) Bscouss the freguency is not stable

(4) Bocause it is not continuous

In an rmp-n fransistor the  collector
currant is 24 mA. If 80% of slecirons
reach collector its base cumsnt in mA is
(1) 36 mA (2) 26 ma

(3 14 ma (4) &maA

The tofal power condent of an AM waove
is 2.84 KW at a moduloticn factor 80%.
The powear contents of

(i} camier, and

(i) soch sideband ars  spectively

(1) 2000'W, 2000W

(2) 2000W, 320°W

(3) 320W, 320W

) &40W, 320W

If we dp in water. capillary fubss of

differant radii r, then haight h to which
watar will riss is such that

{1 rr]_= constant (2 br = constant

3 % = constant  (4) b’ = constant

-

{1y coi A is greater than in B

(2) both the coils ars some

(3 coil A is less than in B

(4) coils A ond B are uniform thiroughout

March list | with list | and select the

comect answer from the codses given
balow the lists:
List | List 11

(a) Hartley (p) Low frequency

oscillator

(b) WienBridge (g High frequency

oscillator

(c) Crystal (ry Stable frequency

oscillotor

(5} Relaxation
oscillotor

(1) Negative
rasistance
oscillotor

Codes
( fo-gib-plic-n
@ o-pib-nic-3
@) (a-p)ib-tic-q

@ a-nb-siic-p)



75.

76.

7.

Im o cerain 2-input logic gate, whan
A=0,B=0 then C =1 andwhen A= 0,
B = 1 then again C = 1. It must be
gate.

(M XOR
(3 MAND

In the frame of refarence of a rotating
tumntable, aninsect of mass m is moving
radially outwards (+ x direction) with a
spaad v, If the fumtable is rotating with
a constant angular velocity ok in the
vartically upward dieclion, the net
psaudo force on the insact, when it is af
a distance from the axis of the fumntable
is ghran by

n
2
3
(Y]
Adiobatic
substance
4]
2)
3
)

(3 AMD
(4) MOR

irne®r + 2 jrmoe
irmi’T — 2 o
— irnee®r + 2 jrnoge

imiaT

demaognefzction of a
decreass the femparatuss
increase the temperature

increase the volume

decreass the volume

(i) Blectron  density changes  with
temparaturs.

(W)} Electron concenitration is grecier
thvan the camier concentration in the
infrinsic ssmiconductor at the same
temperaturs.

Of these, the only true statements are
(1) (i, (i () (@), iy

(3 i, (e () Giiy, (p)

Zenar diode is usad in regulated power
suppdy for providing

(1) mfemnce voltoge

(2) load

(3 control of output voltoge

(&) control of output cumsnit

Match List | with List | and sskect the
comact answer from the codes given
below the lists:
List | List Il
(p) Strotosphes
soattaring
Q) Reflectionin
ionosphers
) &Eround wave

(a) VLF
communication
(b} HF
communication
(c) Microwave
communication
() mm wave
comunication

(= Line of sight
propagation

78.

79.

A p-n junction dicde cannot be usad
(1) as arectifier.

(@) for converting to

alectrical anargy.

light enagy

(3 for getting light radiation.

(4) for increasing the amplitude of an
AC signal.

If two meters X and Y reguire 40 mA
and 50 mA respacilively to give full
scale deflaction, than

1 X is mors sensitive
{2} Y is mome sensithee
3
)

both X and Y are eqgually sensitive

it would not be possible to assess
the sensitivity on the basis of given
data

In regard to o ptype ssmiconductor.
consider the following statfermants.

(i Holes are the mojority camars.

(i At room femperature,  slectron
concentration eguals the donor
concentration.

Codes

(Wio-prib-qlc-N{d-5
@ o-s)b-plic-n{d-p)
) @-nb-gc-d-p)
) o-gqib-sic-ni{d-p)

Bandwidth of colour tolevision
transmission channsl in India is of

(1) 100 kHz (2 1 MHe

) 7 MHz {4) 10 MHz

Efficisncy of o HW ractifior is nearly

(ale ok (DA @) 20%

A frequency modulator has a sensifivity
of 20 kHz/V. K the rofted system
deviation is 75 kHz, what is the micdrnurm
allowabke modulating signal valtage?

m sV
@ 7.5V
3 375V

) none of the abows



Chemistry

86. The radius ratio of I, Il and Il orbit of Ha™,

ar.

I i Iy ¢ Ty I8 Tespactively
(3N1:4:9
@3:2:1

(M1:2:3
MI:4:1
The quarium numbers of vakence elec-

tron of 19K is

(300 +~

1
2 (2]3,1.+L—2

1

{313,2,+2,+% @4.0.0,- 3

Cormact order of ionic character of sihar
halides is

{1y AgCl=>AgF > AgBr= Agl

(2 AgF=AgCl= AgBr= Agl

(3 Agl> AgBr> AgCl= AgF

() AgF>=Agl> AgBr> AgCl

Which is the comect statement among
the following?

(1) Poroxide ion hos o bond order 2
whille {Z.‘Jl2 has a bond order 1.

Match the List | with List || and select the
comact answear using the codos given
balow the list:

List | List 1l
(A) Percyide (P} Fo 0,
(B) Subocxide e Cals
(C) Mixed cxids (R} KO,
(D) Supsroxide (5 Baly
M MnO,

Codes

(MR = T 5
@ 5 R F o
&P = R 5
) 35 = F R

A substance will be deliguescsent, if ifs
VOpOUr PReSSUne is

(1} equal to the atmosphanic prassura.

{2) equal fo that of water vapour in air.

1.

5.

(2) Pomxdde ion has a longer and waakar
bond than O.,

(3) Peroxide ion and O, are paramag-
natic.

(4) Bond kength of percdde ion ks strongar
than O,

Comact order of hydrohysis is

(1) CCly=< AICIy < SiCly < PClg
(2) PClg < AICI < CCly < SiCl,
(3) AICIy < PCl; < CCly < SiCl,
(@) CCl, < AIC, < PCl, < SiCl,

Comact IUPAC name of the complex

[CriH O, Bro]Br - 2H,O is

(1) DibromotetraaguochromiumID
bromide diogua

(2) Tetraogquadibromochrommium Il
bromide difydrote

{3) Tetrooguadibrormochromium I
hydrate bromids

(4) TetraogquadibromochrommiumCIID
bromide

(3 lessor than thot of watarvapour in gir.

(4 groater than that of water vapour in
air.

—-E /AT

Im Amhenius equation, k= A ¢ | the

factore S/ is knowm as
{1y frequancy factor

(2) activation factor

(3 pre-exponantial factor
(4) Bolzmann factor

For the reaction,

ky

NOyy = NoOyy)

the rote of reaction is equal to
k
() k—‘[Noi]?
2
v
@ 2, INO - 2k INO,]

(@ K [NO,F — koI,

) [2k, - koIINCy]



6. ‘Which of the following statement/s k/are

97

101.

comact?

{1) Faradaoy is defined as the chargs
camed by 1 mole of electron.

2 1F=6023= 108 = 1802 = 1077 C

(3 Foraday k& the quonfity of skechicity
reguired fo decomposs of fo iberais
1 grarm equivalant of a substance.

() All statements are comact.

Under whot condificns AH B equal fo AL,
when

(1} the meaction does not involve any
gaseous substance.

(2 the reaction doos not involve any
change in volume of reactant and
product (A = 0).

(3 them i no changs in the number of
molkes of products and recctants

CAm =0,

{4) all of thesa

. A cerfain guandity of current on passing

through aelectroltic baths containing
AghC,, FeS0, and CrCl, in series. and
molas of chromium metal s doposited.
The ratfic of moles of Ag and Fe is
deposited in the ratio of

(M, 2 (2 3, 2

&) Sx,% 04) x, x

The aromatic species anong the follow-
ing is

{IJO wi

IANEEWAN

. The comect enargy gradation of different

conformers is
(1) skew > staggered > aclipsed

() skow > aclipsed > staggerad

98. Match the List | with List [| and salect the

103.

104.

comact answer using the codes given
balow the list:

List 1 List Il
" P ® b
Ba
(B W_ ()] TR0
© T, ® —
27b
a
® o
Codes
A B C
Mme R S
2R [ P
@R P @

@ 3 R ]

The femperature to which a gos must
be cocled for liguefaction by applying
prassurs is known as

(1} Bovle's temiparaturs

(2 critical temparatuns

(3 transition femperaturs

() imversion ternperaturs

(3 eclipsad = skow > staggerad

(d) stoggoered > skew > aclipsad

Comact order of nuckophilicity is

(n CH; - NH; = 0OH = F
2 CH; =0OH =F = NH;

(M F = NH; = OH = CH_

@ F > OH = NH_ > CH

Which of the following reoctions doas
not yield an alkyl halide?

(1) CH.OCH, + PCl,—
(2) C,HOCH, + HI —s

@) CHOCH + CL—

) CHOCH, —MLL.

Rec P



12.

Chromatography & efficient in sspars-
fing cornplex mikture of substancas. It is
based on

(1} abscaption of solute

{2y adsorption of solute

(3 hydration of sclute

(4 adsomption of sohent
Charocternstics of s-block elements ara:

{A) They ore prepared by the elecinchysis
af their fused salfs.

(B} Thair caticns ars dicmognetic.

{C) Bements hove low density, good
conductor of hoot and aleciticiy.

(D) Their oxidas are basic in propserhy.

(1 Onby D (M AandB
(ABand ) A 8 CandD
Zelites are

(1} doubls salts of B and Al

{2) doubls sulphates of alkcl metals with
Crd, A2 Red,

113.

114.

115,

(3 doubls halides of K and Mg.
(d) doubls siicates of Al and MNa.

Decreasing order of oxidising power of

parhalate ion (){D;] is
M 10, =BO, = ClO,
0 CIo, = IO, =10,
() BrO, =10, = CIO,
) BrO; = CI-D; = ID;
Transition metals and their compounds

ane used as catalysts bacauss

(1} in the powdear fomrn, they hove large
surface arsa

() of prasance of fieo volence alecions

(3 of prasence of unpaired d-slectrons
{4y all of thass

Which of the following metals do not
form peroxide?

(M HNa @K (WBa WFp



114,

117.

11%.

. Corsider the following metdlurgical pro-

Match the List | compouwnd of sitver with
List Il with colowr and sekect the comact
arewvar wsing the codes given below the
list:

List | List 1l
(A) AgQ.S (F} White
(B) Ag,CrO, (&) Yellow
Ty Ag.PO, () Block
(0} AgCMS (3 Red
(M Chocolate
brown
Codos
A B C D
(nF o R 5
(2 = R o T
@R T = 5

R 5 el P

Reducing property of fomic ocid is dus

to__ gmoup
(1) - CCCH (5 -CH
(3 - CHO Wy —H*

FAucine does not fomn any inferhalogen
compound as ofher halogens becauss
it has

(1} low F- F bond enargy
(2 maximum electronegativity
() no d-orbitals

) low electron gain enthalpy

=t

(A) Hedting the sulphide o in blost
fumaocs so thot a part of it B comasr-

fed o @edide and then onfurther heafing
im the abssnca of air, it undargooes re-
duction fo get the matal.

(B} Blacirolsing the molien elacirolis
with CaCl, and the matal i got by

slactrohtic reduction.
(C) The sulphide o B miked with ogquaous
MNaCN in pressnce of air, the oqueous

matal complex fomed is precipito-
ted by odding zinc powdear.

The process used for obtaining sodium,
sitver and copper respectively ane

118. The product A, B and C of the folowing

121.

123.

recction are respectively

OH
(el
a0
A (Ba
4y H*
Conec, Ha50, + Conc, HNO,
A

B

oH
COOH Oy NO,
m - : @
II\'E"}
ok O CO0H
CHO
m . E
N,

CO0H

OH OH
COoH MOy
(&) ‘ ;
H OH
N©
“@ Ny,
COCH N

(DA . BandC (HB. CandA
(M C.Band A @B AandC

The sclubility product (K ) of Cus, Ag,S

and HoS rmspactively ars 1079, 107 and

107 The crdar of fheir solubility in waler
will b

(1) Ag,5>CuS=> Hgs
(@) Ag.5>HgS>Cus
(3 HgS>AgQ.5 > Cus

) Cus> Ag.5> Hgs

. The aquecus solufion with the loweast

freazing point is

(1) 0.01 m glucoss
(2) 0,01 m KCI

(¥ 0.01 m BaCl,

() 0.01 m K [Fa{Ch),]

Match the Lst | with List Il ond select the
comact answer using the codes given
below the list:



List I

(A) Anomer

(B) Enantiornar

Diastarao-

cy

mar

D)  Mesormer

Codes

MR 5 P

@R @

MR P Q
p

@ R

(P

(o))

(R

(5)

List Il
MNon-supaim-
poscble miror
imogos
Stemoisormar
that are not
mirrar imagss
Steroisomar
fhat differ at C-1
configurotion
Cis-trans
isomieTism
Optically inact-
ive chiral comr
pound dua o
intemal com-
pensation

Match the List | with List I| and sskect the

comact answer using the codes given

below the list:

125.

(B)

<y

(o

List I

Filbrous protein
Globular
protein
Conjugoied
protein
Darved protein

Codas

n
{2y
&)
4

A
R
8
B

= @ om o
mowmon =0

R

List Il
(P Polypeptide
(&) Peptons

() Hermctin
{5} Nucleo-

profein
(T}  Albumin

Iwitter ion is possible in

{A) protain (B} sulphanilic acid
MH,

(C) owalic acid ()]
COOH

(A and B () BandC

(3) C only @) Aand D

English Proficiency and Logical Reasoning



(a) ENGLISH PROFICIENCY 129. EMSCOMCE

Direcfions for quesfions 126 to 128: In each of () tosumound
the following quesfions, o caopitalised word s (2) topromote
followed by four words numbered 1 fo 4. (3 o honour

Choose the word that i most opposite to the
maaning of the caopitalised word and mark ) o seffle comforiably
wour answer in the appropriote ploce in your | 130, INGRATIATE

answer shaet.

126. SCIMTILLA
(1} Unscientific
{2) Huge guantity

(1} toregret
{2y to provolks

(3} to ploce onesalf in o fovourable

paosition
M -micuthed
@ Mealy-mo @ 1o fesl delighted
{4) Unpromisin
P . 131. AUGURY
127. KMAVE I Disout
(1) Honest (@ Ignoant () Disputa
(3) Timid (4) Beligerant @ Alar
128. AROCRYPHAL (3} Place of mfuge
(1) Confusing (2 Madam ) Omen
(3 Trus ) Ursophisticated 132. TRAMSGRESS
Directions for quesfions 129 to 133 Eoch (1} totake loan
queastion below hos o word copitalised @ o go bayond the limit
followed by four words or phrasss numbered 1
to 4. Choose the word that haos nearly the (3 to discuss at length
same meaaning as the capitalissd word. ) o show o clean pair of hasls
133. FERRET OUT that something has been left out. Following
aach sentence four words are given. Choose
(1) to saarch (@) ta trap the word that makss the senfence
(3) 1o hide () 1o fles rmaaningful.
Direcfions for questions 134 fo 136: Eoch of the | 137, John was so good ot mathematics that
following ssntence has o mistaks in grarmmar his friends comsidersd him to be a

usage of idiom. Eoch sentence is broken up
imfo four pars sequentialy 1. 2. 3 and 4

Chooss the part that has an emor and miark (I Profligate (2) Prodigy
di .
accordingly (3 Prodigal (4) Primeval
134. (1} It is stupid to go
) 138. His __  of the fopic was so good
2) tothe expense of faking thet students had few doubts to raise at
(3) music lessons fhe end.
@) if you nenver practice (1) exposition (2) picturisation
135. (1) ill fimd
ay Youwi (3 clarity () exposurs
2y if difficult

Directions for quesfions 139 and 140: Chocose
frormn armong the allematives given, the waord

4) of such offensive language wihich will substitute the undedined exprassion
136. (1) Because of the in acch D‘f the following questions and miark
the same in your answer shaat.

3} to explain of your use

2} extenuating circumstances
139. Though badly wounded he clung to his

@) the court ocquitted him lifs with firm detemingtion.
) out of the crime

(1) tendancy () tenacity
Directions for guesfions 137 and 138: Eoch

santence below hos a blank space indicating (3) sustanance (4) abstaation




140. He stared the fight without being

incited by angar.
(1) abjectad (2) improvised
(3 provoked (4) poverished

(bB) LOGICAL REASONING

Directions for questions 141 to 144: In each of
the following questions a pair of words with
cartgin relotionship between them k& given
followed by four pairs numbered 1 fo 4. Sslect
the par whemin the words hove closest
relationship to the criginal pair.

141. DRIWER : DRVIMNG :

(1} Carpanter : Wood

(2) Garden : Plants

(3 Counsallor : Counsaliing
(4} Psychologist : Teaching

. WATER : SWIM ::

(4}
(2)
(=]

Gree : Gross
Flan : Implemeant

round : Play

4}y Knot:Tie

. Galleo mods many  important
scientific discovernss, and from the
vaar 1809 orwards, he was the
makar of the first telescopa.

. With thass he studied the heavens,
and there he sow many wondedful
things that men hod never seen
bafore.

E. He studied at Fisa Umiversity and
became o professcr of Maothematics
there, and afterwards at Poduao.

F. The man who is described as “the
first truly modem scientist was an
ltallicon astronomer Galleo Gdlilei, who
wias bom in Pisa, in the yaar 1554

(1} BDEAFC (2) FEDCBA

(3) BED-CAF (4) BEACDF

146. A. To be able fo infegrate socialy and
axcal in great Indion marketploce, it
makas good sanse fo be comearsant
with regicnal languages other than
just cnas mother tongus.

B. A wilingness o odopt and adapt o
another language will enrch the
indivicdual.

143. CANVAS : PAIMTER =

{1} Leather: Shos
2)
2)

)

Chissl : Wood
Harnmer : Canpenter
Marble : Sculptor
ELEWATED : EXALTED ::

(1} Promoted : Excellence

(2) Purified : Hygienic

(3) Dirly : Filthy

(4) Disordorty : Unfaithful

Directions for quesfions 145 to 147: In 2och
question you find a set of santences amanged
in o hophoeard way. Choose the comect
amangement of senfences as indicated by
the number to maks a coherent parcgraph.

1456. A, Gdlileo sow, too, that ol the plonsts,
incleding the earth, frovel round the
SUN.

B. Cn the sun he sow daork spots that
moved slowly ocross ifs surfoce; and
this proved that the sum, like the
aarth, spins round itsalf.

. Indesd, most ubon Indians are
bilingual and speck a smatiering of
at least a third language.

. Migration to where opporunity
backons is the ordar of the day and
Indicns are constantly shiffing base
within the country.

E. In the 21¥ century marketplace.
languages are the new bargaining
chips.

F. While English rmust be actively

promoted, it would be foolhardy to
let regional languages foll off the

radar.
(1) FBADCE (2) EFBCAD
(3) DEAFBC (4) DBCEAF
147. A, The other two south Asion contendars

for the worlds most covetad literany
prize werme Indira Sinha for “Animals
People™ and Meohsin Hamid for “The
Reluctant Fundomentalist™.

B. Mobody wos more surprsed than
thie 45 yaar old anothar hamssif.

. The chwoice mised ayebrows and
prompied praise for the junys bold
mowe though thers was a lack of
happy unenimity.




D. The judges hailed it as a “powerful” (Iy CEA (2)CEF  (3) ADE (4) BAE
and wnflinching study of a grieving
dysfunctional famiby. 149. Complkste the following seres by

choosing the right altemative.
E. She won an award of £ 50,000 for

har novel “The gatharning™. & C I u O
F. Irsh writer Anne Eniight was declomd 3 ﬁné d o *
the surprise winner of ‘the Man M B c b
Bookor Prize®.
S A T R
(1) ABCEFD (2) FBECAD -
1 F 1 4 5
(3) FEDZBA () DACFEE
1580. Chooss the figue from the five
Directions for question 148: The question altermatives 1, 2, 3, 4 and 5 will fit info
contains sk statemeants followead by four sets the box? of the figure marked X
of combinations of three. Choose the sat in
which the statements are logically elated. ,?

148. A, All cups ars sQucers

B. All pofs are cups.

o0
C. All pofs are saucers.
T I
D. All sSQUcers as cups. g A
i
E. Some cups ars pofs. o P {3} L] (50

F. Some soucers are pots.




